Enhanced Performance Systems




Tongue Box

Installation Manual



Parts

ITEM NO. DESCRIPTION QrY.
1 Tongue Box Top 1
2 TOUMNGE BOX BOTTOM PLATE 1
3 5/16 x1” Bolt 4
4 5/14 Washer 8
5 5/16 Myloc Mut ]
& #10 Nyloc Nut 12
7 #10 Washer 12
8 #10 Screw 12
g 516 %1 1/4" Bolt

/4 e 5/16” Wrench or
Socket

—<aifig)
5 e Drill with 5/16” &
13/64” Bits

/.«

;'l' e Assistant

Latch Bracket

e 1/2” Wrench or

Socket




Procedures

Step one: Chock and Support Trailer

Caution!
Failure to properly chock and support trailer may result in damage to trailer or
personal injury.

Place chocks around trailer wheels to prevent movement during work. Support the trailer and raise the
trailer jack.

Step two: Install Latch Bracket

With the weight removed from the trailer jack remove the 2 rear bolts retaining the trailer jack using a
%" wrench or socket. Replace with the two 5/16” X 1 %4” bolts, part #9, from the hardware pack. Attach
the latch bracket, part #10, to the new bolts and affix with two 5/16” Nyloc nuts, part #6.

Step three: Install Tongue Box Top

Place the Tongue Box Top, Part #1 on the trailer frame. Slide the rear portion under the
propane/battery compartment. Ensure the lid is properly aligned and that the door opens freely and
engages the latch catch. Using the holes in the mounting plate drill four 5/16” holes in the trailer frame.
Attach using 5/16” bolts, washers, and nuts, parts #3, #4, #5. If required, adjust latch catch by loosing
the two screws attaching it.

Step four: Install Tongue Box Bottom

Place the Tongue Box Bottom Plate, Part #2, on the bottom of the trailer frame and align with edges of
the frame. Using the holes in the bottom plate drill holes in the bottom of the trailer frame and attach
using twelve #10 screws, washers and nuts, parts #6, #7, #8

Caution!

Do not store small items in the tongue box, they may
fall out during transit.



